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Q.1) a) Correct Answer-----m--eeeeeeeneen 02 Marks
b) Correct Answer------------rerem 02 Marks
C) Correct AnSWer-------==mcmneem 02 Marks
d) Correct Answer--—-—----eomeeeeen 02 Marks
e) Correct AnSwer-----------usee-u- 02 Marks
f) Correct Answer-----cmeeeemeeeeve- 02 Marks
g) Correct ANSWer--------swemmueares 02 Marks
h) Correct Answer--------------—----02 Marks
1) Correct ANSWer-------es-szc-mm 02 Marks
j) Correct ANSWer----smvmsemmmamens 02 Marks
Q 2) a) Correct approach-=«-ccesem oo 02Marks
Correct answer-------- O 02 Marks
b) Upto type and degree of function=-----sesmeeemmmomemmoeeeieeeeo 03 Marks.
Euler's Theorem and Correct answer---s--eswesemseemmomciecacee --03 Marks
¢) Upto all 15t ordered derivatives---=---seseseememummeeecaae 03 Marks
e R R — 01 mark
OR
Bafe e et i o 03 Marks
ox oy 0Oz
b) Upto type and degree of function--------ssemmeeseeeecomncreecacnmeee 03 Marks.
Euler's Theorem and Correct answer emmmmemmesenare e es e 03 Marks
¢) Correct approach---------emmmmemma 02Marks
Correct answer---- - 02 Marks
Q4) a) Numerator---==---ceoemcoimmmaam e 03 Marks
Denominator----- - 03 Marks
b) Correct approach-------eeeeoeemmicciociammmnnc i 02Marks
COrrect anSWer-=--ssmesememmermmeeee e 02 Marks
¢) Correct approach--=---seeosmomooomimiaiaoo 02Marks
Correct answer 02 Marks
OR
Q95) a) Stationary Points------------ st 03 Marks
Correct Conclusions-----------mmemmmceeeno. 03 Marks
b) Jacobian = 0w e 03 Marks
o — 01 Mark
C} Correct apProach--rresu-ccmmsmsrssaroniasssmn s 02Marks
Correct answer-------------- S e o 02 Marks




